FRIENDS OF KIMO ALAMEDA

PO BOX 10451

HILO, HI 96721

FRIENDS OF KIMO ALAMEDA

Advertiser ID: 5881

Amount Paid

5881-00002-0000	1/28/2024	1
Official Invoice	Date	Page

DETACH AND RETURN WITH PAYMENT

5881-00002-0000

O 1/28/2024

I

Purchase Order Number:

Est. Number:

Co-Op:

Description: EVENT

Salesperson: Kervick, Billy

							Salespe	rson: Kervick, Bill	y 	
Date	Day	Length						Qty	Rate	Total
1/3/2024			KAOY-FM	KAOY AD SY	NC PKG					\$41.40
	'			OPUA RALLY					A00.00	400.00
1/3/2024	- 1		KAOY-FM			05:47:48 PM		3	\$22,00	\$66.00
1/3/2024	- 1		KAOY-FM		07:20:37 AM			3	\$24.00	\$72.00
1/4/2024			KAOY-FM		04:49:28 PM			3	\$22.00	\$66.00
1/4/2024	1		KAOY-FM			08:25:23 AM		3	\$24.00	\$72.00
1/5/2024	Fri		KAOY-FM			05:55:09 PM		3	\$22,00	\$66.00
1/5/2024	Fri	1:00	KAOY-FM			08:45:47 AM		3	\$24.00	\$72.00
1/28/2024				Hawaii State	Tax:					\$21.46
	ļ									
	- 1									
										4444
										1
								F	rsa\	
								B 1/1/20		
								13 77127	L_J)	
								572.5357	-	

This station does not discriminate or permit discrimination on the basis of race or ethnicity in the placement of advertising. Payment due upon receipt, \$25 returned service fee 1.5% Finance charge will accrue on balances past 30 days. Doc Date: 1/28/2024 # of pages_____ Notary Name: AnnMarie Chew Doc Desc: Affidavit of Performance Notary Signature:

Quantity	18 Total	\$455.40
Total Sales Tax		\$21,46
Total Due		\$476.86

FRIENDS OF KIMO ALAMEDA

Advertiser ID: 5881

Amount Paid _____

5881-00003-0000	1/28/2024	1
Official Invoice	Date	Page

DETACH AND RETURN WITH PAYMENT

5881-00003-0000

O 1/28/2024

1

FRIENDS OF KIMO ALAMEDA PO BOX 10451 HILO, HI 96721

Purchase Order Number:

Est. Number:

Co-Op:

Description: EVENT

Salesperson: Kervick, Billy

Date	Day	Length					Qty	Rate	Total
1/3/2024			KMWB-FM	KMWB AD S	YNC PKG	W-10-			\$41.4
1			Tape: LA [†] IC	PUA RALLY					***
1/3/2024	Wed		KMWB-FM			05:55:05 PM	3	\$22.00	\$66.0
1/3/2024	Wed	1:00	KMWB-FM		07:58:33 AM		3	\$24.00	\$72.0
1/4/2024	Thu	1:00	KMWB-FM			05:23:49 PM	3	\$22.00	\$66.0
1/4/2024	Thu	1:00	KMWB-FM			08:53:29 AM	3	\$24.00	\$72.0
1/5/2024	Fri	1:00	KMWB-FM	03:50:30 PM	04:50:30 PM	I 05:51:00 PM	3	\$22.00	\$66.0
1/5/2024	Fri	1:00	KMWB-FM	06:51:00 AM	07:21:00 AM	08:50:00 AM	3	\$24.00	\$72.0
1/28/2024				Hawaii State	Tax:			1	\$21.4
	- 1								
							gamenous princip just	armé lemestrassement	
							167778	144-91 I	
							18 1/4/2	4	
							Lycresi		
							-	,	
							 	l hos	

This station does not discriminate or permit discrimination on the basis of race or ethnicity in the placement of advertising. Payment due upon receipt, \$25 returned service fee 1.5% Finance charge will accrue on balances past 30 days. Doe Date: 1/28/2024 # of pages______ Notary Name: AnnMarie Chew Doc Desc: Affidavit of Performance Notary

Signature:__

Quantity	18 Total	\$455,40
Total Sales Tax		\$21.46
Total Due		\$476.86

FRIENDS OF KIMO ALAMEDA

Advertiser ID: 5881

Amount Paid

5881-00004-0000	1/28/2024	1
Official Invoice	Date	Page

DETACH AND RETURN WITH PAYMENT

5881-00004-0000

O 1/28/2024

1

FRIENDS OF KIMO ALAMEDA PO BOX 10451 HILO, HI 96721

Purchase Order Number:

Est. Number:

Co-Op:

Description: HILO RALLY Salesperson: Kervick, Billy

							Suicspeis	OII. KCIVICK, DIII	,	
Date	Day	Length						Qty	Rate	Total
1/10/2024			KWXX-FM	KWXX AD SY	NC PKG					\$45.00
	'	'	Tape: HIL					_	204.00	#70 00
1/10/2024	Wed	1:00	KWXX-FM			05:48:35 PM		3	\$24.00	\$72.00
1/10/2024	Wed	1:00	KWXX-FM		07:21:28 AM	08:57:34 AM		3	\$26,00	\$78.00
1/11/2024	Thu		KWXX-FM	04:42:15 PM				1	\$24.00	\$24.00
1/11/2024	Thu	1:00	KWXX-FM	07:24:02 AM	08:24:00 AM			2	\$26,00	\$52.00
1/12/2024	Fri	1:00	KWXX-FM	04:38:19 PM				. 1	\$24.00	\$24.00
1/12/2024	Fri	1:00	KWXX-FM	06:50:47 AM				2	\$26,00	\$52.00
				IO FOR MAYOR JI				2	\$24,00	\$48.00
1/11/2024			KWXX-FM	04:18:25 PM	05:48:54 PN			2	\$26.00	\$26.00
1/11/2024			KWXX-FM	07:53:00 AM					\$24.00	\$48.00
1/12/2024			KWXX-FM	03:51:09 PM	05:51:24 PM			2	\$26.00	\$26.00
1/12/2024		1:00	KWXX-FM	07:39:55 AM	_			1	\$20,00	\$20.00 \$23.32
1/28/2024				Hawaii State	Tax:					Ψ20.02

								5 77 5	7575	
								Sandage and account and		
		***************************************						2 Y 5/2	ユ―(J)	
									and Commence	

This station does not discriminate or permit discrimination on the basis of race or ethnicity in the placement of advertising. Payment due upon receipt, \$25 returned service fee 1.5% Finance charge will accrue on balances past 30 days. Doe Date: 1/28/2024 # of pages______ Notary Name: AnnMarie Chew Doc Desc: Affidavit of Performance Notary Signature:_______

Quantity18 Total\$495.00Total Sales Tax\$23.32Total Due\$518.32

FRIENDS OF KIMO ALAMEDA

Advertiser ID: 5881

Amount Paid

5881-00005-0000	1/28/2024	1
Official Invoice	Date	Page

DETACH AND RETURN WITH PAYMENT

5881-00005-0000

O 1/28/2024

1

FRIENDS OF KIMO ALAMEDA PO BOX 10451 HILO, HI 96721

Purchase Order Number:

Est. Number:

Co-Op:

Description: HILO RALLY Salesperson: Kervick, Billy

							Strooperson	: Kervick, Bii	1.5	
Date	Day	Length						Qty	Rate	Total
1/10/2024			KAOY-FM	KAOY AD SY	NC PKG			•		\$45.00
		,	Tape: HIL					•		
1/10/2024	1		KAOY-FM			05:48:21 PM		3	\$24.00	\$72.00
1/10/2024			KAOY-FM		07:21:58 AM	08:56:19 AM		3	\$26,00	\$78.00
1/11/2024			KAOY-FM	04:17:53 PM			•	1	\$24.00	\$24.00
1/11/2024	t t		KAOY-FM	07:23:02 AM	08:48:10 AM			2	\$26.00	\$52.00
1/12/2024	Fri		KAOY-FM	04:38:18 PM				1	\$24.00	\$24.00
1/12/2024	Fri	1:00	KAOY-FM	07:23:48 AM				2	\$26.00	\$52.00
				O FOR MAYOR JE						
1/11/2024			KAOY-FM	03:50:04 PM	04:52:34 PIV			2	\$24.00	\$48.00
1/11/2024			KAOY-FM	08:24:00 AM				1	\$26,00	\$26.00
1/12/2024	Fri		KAOY-FM	03:50:13 PM	05:50:43 PM			2	\$24.00	\$48.00
1/12/2024	Fri	1:00	KAOY-FM	06:49:46 AM	_			1	\$26,00	\$26.00
1/28/2024				Hawaii State	Гах:					\$23.32
	Ī									
									•	
								processing		
								1624		
								-13 \vee	5/24	
								7225	2225	

This station does not discriminate or permit discrimination on the basis of race or ethnicity in the placement of advertising. Payment due upon receipt, \$25 returned service fee 1.5% Finance charge will accrue on balances past 30 days. Doe Date: 1/28/2024 # of pages______ Notary Name: AnnMarie Chew Doc Desc: Affidavit of Performance Notary Signature:

Quantity	18 Total	\$495.00
Total Sales Tax		\$23.32
Total Due		\$518.32